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QUESTION 1

Refer to the exhibit.

Router - —_  Router
A B

OSPF . OSPF ﬁ
Area 0 Area 5

A customer runs OSPF with Area 5 between its aggregation router and an internal router When a network change
occurs in the backbone. Area 5 starts having connectivity issues due to the SPF algorithm recalculating an abnormal
number of times in Area 5 You are tasked to redesign this network to increase resiliency on the customer network with
the caveat that Router B does not support the stub area.

How can you accomplish this task?

A. Increase the bandwidth on the connection between Router A and Router B

B. Implement LSA filtering ontheAB, allowing summary routes and preventing more specific routes into Area 5

C. Create a virtual link to Area 0 from Router B to the ABR

D. Turn on LSA throttling on all devices in Area 5

E. Set Area 5 to stubby at the ABR anyway

Correct Answer: B

QUESTION 2

Refer to the exhibit.
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OSPF is running as the IGP to provide reachability to all AS100 networks R3 and R4 are the current ABRs at the
boundary of OSPF Area0 and Areal Now BGP must be deployed within AS 100 because it will be receiving Internet
routes from its eBGP peers (the service provider) connected to R1 and R2.

What is an optimal solution for this deployment to configure BGP relationships and redistribute BGP learned routes into
OSPF?

A. R5 should be configured as a route reflector for R1, R2, R3 and R4. BGP routes must be redistributed at R1 and R2
into OSPF.

B. Configuration should be set up with R1 and R2, and R3 in one sub AS, with and R4 in another, and redistribution at
R1 and R2.

C. A full mesh should be deployed between all the routers with mutual redistribution to take place at R1 and R2.
D. R1, R2, R3 and R4 must be set up with a neighbor relationship with R5 only must not be a route reflector.

Correct Answer: A

QUESTION 3

Which design consideration is valid when you contrast fabricPath and trill?

A. FabricPath uses IS-IS, but TRILL uses VXLAN

B. FabricPath permits active-active FHRP and TRILL support anycast gateway.

C. FabricPath Permits ECMP, but TRILL does not

D. FabricPath permits active-active mode, but TRILL supports only active-standby mode.

Correct Answer: B
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QUESTION 4

Which purpose of a dynamically created tunnel interface on the design of IPv6 multicast services Is true?

A. first-hop router registration to the RP

B. multicast client registration to the RP

C. multicast source registration to the RP

D. transport of all IPv6 multicast traffic

Correct Answer: D

The purpose of a dynamically created tunnel interface in the design of IPv6 multicast services is to transport all IPv6
multicast traffic. A tunnel interface is a virtual interface that is used to encapsulate IPv6 multicast traffic in an IPv4 or
another IPv6 unicast packet for transport across a network. In the context of IPv6 multicast services, the tunnel interface
is dynamically created when multicast traffic needs to be transported between multicast domains, or when the network

topology requires it. The tunnel interface is used to encapsulate the IPv6 multicast traffic, allowing it to traverse the
network as a unicast packet, which is then decapsulated and forwarded to the appropriate receivers.

QUESTION 5

Which design solution reduces the amount of IGMP state in the network?

A. IGMP filtering

B. IGMPv3 with PIM-SSM

C. multiple multicast domains

D. one multicast group address thorough network regardless of IGMP version
Correct Answer: B

An IGMPv3 Report message can carry multiple groups, whereas an IGMPv1 or IGMPv2 Report message can carry only
one group. IGMPv3 greatly reduces the number of messages transmitted on a network.
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